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QUESTION 1

An administrator has decided to create 10 ESXi 6.x hosts via Auto Deploy for a new Test/Dev cluster. The hosts are
configured to obtain their networking configuration via DHCP. 

Which condition would explain why none of the hosts are able to receive a valid DHCP address? 

A. The Boot Server Host Name has been set to the TFTP server. 

B. The DHCP scope was set too small. 

C. The DHCP lease duration is set too short. 

D. The BIOS DHCP File Name was incorrectly entered on the DHCP server. 

Correct Answer: D 

 

QUESTION 2

Which two settings are required for Virtual Machine Component Protection (VMCP) to protect from All Paths Down
(APD) and Permanent Device Loss (PDL)? (Choose two.) 

A. Host Monitoring 

B. VM Restart Priority 

C. Virtual machine Monitoring 

D. Response for Host Isolation 

Correct Answer: AB 

If either the Host Monitoring or VM Restart Priority settings are disabled, VMCP cannot perform virtual machine restarts.
Storage health can still be monitored and events can be issued, Reference: https://pubs.vmware.com/vsphere60/index.j
sp?topic=%2Fcom.vmware.vsphere.avail.doc%2FGUIDF01F7EB8-FF9D-45E2-A093-5F56A788D027.html 

 

QUESTION 3

Which two statements are true regarding Storage Multipathing Plug-Ins? (Choose two.) 

A. The default Path Selection Policy is VMW_PSP_MRU for iSCSI or FC devices. 

B. The default Path Selection Policy is VMW_PSP_FIXED for iSCSI or FC devices. 

C. VMW_PSP_MRU is typically selected for ALUA arrays by default. 

D. VMW_PSP_FIXED is typically selected for ALUA arrays by default. 

Correct Answer: BC 

: By default, the VMware NMP supports the following PSPs: 
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VMW_PSP_MRU The host selects the path that it used most recently. When the path becomes unavailable, the host
selects an alternative path. The host does not revert back to the original path when that path becomes available again.
There is no preferred path setting with the MRU policy. MRU is the default policy for most active-passive storage
devices. Displayed in the vSphere Client as the Most Recently Used (VMware) path selection policy. VMW_PSP_FIXED
The host uses the designated preferred path, if it has been configured. Otherwise, it selects the first working path
discovered at system boot time. If you want the host to use a particular preferred path, specify it manually. Fixed is the
default policy for most active-active storage devices. Note If the host uses a default preferred path and the path\\'s
status turns to Dead, a new path is selected as preferred. However, if you explicitly designate the preferred path, it will
remain preferred even when it becomes inaccessible. 

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%2Fcom.vmware.vsphere.storage.doc% 2FGUID-
B7AD0CA0-CBE2-4DB4-A22C-AD323226A257.html 

 

QUESTION 4

Which three ports are used by the vSphere Web Client when connecting directly to an ESXi 6.x host? (Choose three.) 

A. 443 TCP 

B. 902 TCP and UDP 

C. 903 TCP 

D. 5480 TCP 

E. 9443 TCP and UDP 

Correct Answer: ABC 

 

Reference: https://pubs.vmware.com/vsphere-60/topic/com.vmware.ICbase/PDF/vsphere-esxi-vcenter

server-60-installation-setup-guide.pdf 
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QUESTION 5

Which two conditions would prevent an administrator from upgrading an existing vCenter Server Appliance to vSphere
6.x? (Choose two.) 

A. The administrator did not export the appliance configuration. 

B. The ESXi Host that the appliance will run on has not been placed into Maintenance Mode. 

C. The administrator is using an appliance with an embedded Platform Services Controller. 

D. The appliance has been configured to use an external Single Sign-On server. 

Correct Answer: AD 

If the administrator is upgrading an existing vcenter server appliance to vSphere 6.x, he needs to export appliance
configuration before doing so and he needs to avoid using external single sign-on server. 
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